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Airfoil: NACA 63-418, Re = 3.2E6
Solver: OpenFOAM, RASModel: RANS kOmegaSSTLMkvAr, Ti: 0.8 %
AOA = 2deg
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Clean - CFD (Bezier)
Clean - Exp (Sandia)
B Rough LE (ks = 42810um) - CFD

Rough LE (200um,3%) - Exp (Sandia)
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Airfoil: NACA 63-418, Re = 3.2E6
Solver: OpenFOAM, RASModel: RANS kOmegaSSTLMkvAr, Ti: 0.8 %
AoA = 6deg
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Clean - CFD (Bezier)
Clean - Exp (Sandia)
Rough LE (ks = 42810um) - CFD
Rough LE (200um,3%) - Exp (Sandia)
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Airfoil: NACA 63-418, Re = 3.2E6
Solver: OpenFOAM, RASModel: RANS kOmegaSSTLMkvAr, Ti: 0.8 %

AoA = 4deg
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Airfoil: NACA 63-418, Re = 3.2E6
Solver: OpenFOAM, RASModel: RANS kOmegaSSTLMkvAr, Ti: 0.8 %

AoA = 8deg
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